HVARRIE, oy /v RO RER

P 1

7 hNO  EHSCQS

¥4k VEIR A—I=y7 ORG

Geranial
Neral
Geraniol

Geranyl acetate

e 40.600%
17— 31.830%
VA=Y e 5.350%
rI=VT YT —h 3.190%



HVARRIE, oy /v RO RER

P2

yhNO  EHSCGS

¥4k VEIR A—I=y7 ORG

Citral-A/Geranial
Citral-B/Neral
Geraniol

Geranyl acetate

YINT=AN-ASTT=T = 39.600%
VT NV-B/ %7V 30.740%
e 7.040%
7=V YT —h 4.000%



HVARRIE, oy /v RO RER

P 3

yhNO  EHSCFS

¥4k VEIR A—I=y7 ORG

Citral-A/Geranial
Citral-B/Neral
Geraniol

Geranyl acetate

YINT=AN-ASTT=T = 39.600%
VT NV-B/ %7V 30.740%
e 7.040%
7=V YT —h 4.000%



HVARRIE, oy /v RO RER

P 4

yhNO  EHSCCS

¥4k VEIR A—I=y7 ORG

Citral-A/Geranial
Citral-B/Neral
Geraniol

Geranyl acetate

VINI=N=A T T=T = 39.270%
VT NV-B/ %7V 36.070%
e 4.340%
7=V YT —h 4.320%



